



Bounds On The Probability Of Error In Term Of Generalized Renyi’s Entropy

R. K. Dahiya^{1*}

^{1*}HOD, Department of Mathematics Pt. NRS Govt. College, Rohtak –Haryana and Hardik Dahiya Vellore Institute of Technology, Chennai

***Corresponding Authors:** R. K. Dahiya

^{*}HOD, Department of Mathematics Pt. NRS Govt. College, Rohtak –Haryana and Hardik Dahiya Vellore Institute of Technology, Chennai

Abstract:

Bounds on the probability of error in Term of generalized Renyi’s for two class cases are obtained. These bounds are valid for $0 < \alpha < 1$ and $\alpha \geq 2$. The obtained result had more significant, because Renyi’s entropy gave better result for higher order, i.e. for $\alpha > 1$.

1. Introduction

Consider two finite probability distribution $p = (p_1, p_2, p_3, \dots, p_n)$,

$$p_i \geq 0, \sum_{i=1}^n p_i = 1 \text{ and } Q = (q_1, q_2, q_3, \dots, q_n), q_i \geq 0, \sum_{i=1}^n q_i = 1$$

Shannon’s Entropy (1948) and its generalization, I.e. Inaccuracy is given by

$$H(P) = - \sum_{i=1}^n p_i \log p_i \tag{1.1.1}$$

$$H(P // Q) = - \sum_{i=1}^n p_i \log q_i \tag{1.1.2}$$

In (1.1.1), and (1.1.2), if $H(P)$ and $H(P//Q)$ is replaced Entropy (1961), i.e.,

$$R_\alpha(P) = \left(\frac{1}{1-\alpha} \right) \log \sum_{i=1}^n p_i^\alpha, \alpha \neq 1, \alpha > 0 \tag{1.1.3}$$

$$R_\alpha(P // Q) = \left(\frac{1}{1-\alpha} \right) \log \sum_{i=1}^n p_i^\alpha q_i^{1-\alpha}, \alpha \neq 1, \alpha > 0 \tag{1.1.4}$$

From (1.1.3),

$$(1-\alpha)R_\alpha(P) = \log \sum_{i=1}^n p_i^\alpha$$

$$2^{(1-\alpha)R_\alpha(P)} = \sum_{i=1}^n p_i^\alpha \tag{1.1.5}$$

If we replace P by Q in above, then

$$2^{(1-\alpha)R_\alpha(Q)} = \sum_{i=1}^n q_i^\alpha \tag{1.1.6}$$

Adding (1.1.5) and (1.1.6), we get,

$$\frac{1}{2} [2^{(1-\alpha)R_\alpha(P)} + 2^{(1-\alpha)R_\alpha(Q)}] = \frac{1}{2} \left[\sum_{i=1}^n p_i^\alpha + \sum_{i=1}^n q_i^\alpha \right]$$

$$\left(\frac{1}{1-\alpha} \right) \log \left[\frac{1}{2} \{ 2^{(1-\alpha)R_\alpha(P)} + 2^{(1-\alpha)R_\alpha(Q)} \} \right]$$

$$= \left(\frac{1}{1-\alpha} \right) \log \left[\frac{1}{2} \left\{ \sum_{i=1}^n p_i^\alpha + \sum_{i=1}^n q_i^\alpha \right\} \right]$$

Let,

$$M_\alpha^1(P//Q) = \left(\frac{1}{1-\alpha} \right) \log \left[\frac{1}{2} \left\{ 2^{(1-\alpha)R_\alpha(P)} + 2^{(1-\alpha)R_\alpha(Q)} \right\} \right]$$

$$= \left(\frac{1}{1-\alpha} \right) \log \left[\frac{1}{2} \left\{ \sum_{i=1}^n p_i^\alpha + \sum_{i=1}^n q_i^\alpha \right\} \right] \quad \dots (1.1.7)$$

From (1.1.4),

$$(1-\alpha)R_\alpha(P//Q) = \log \sum_{i=1}^n (p_i^\alpha q_i^{1-\alpha})$$

$$2^{(1-\alpha)R_\alpha(P//Q)} = \sum_{i=1}^n (p_i^\alpha q_i^{1-\alpha})$$

$$2^{(1-\alpha)R_\alpha(P//\frac{P+Q}{2})} = \sum_{i=1}^n \left(p_i^\alpha \left\{ \frac{1}{2} (p_i + q_i) \right\}^{1-\alpha} \right) \quad \dots (1.1.8)$$

Similarly we have, $2^{(1-\alpha)R_\alpha(Q//\frac{P+Q}{2})} = \sum_{i=1}^n \left(q_i^\alpha \left\{ \frac{1}{2} (p_i + q_i) \right\}^{1-\alpha} \right) \quad \dots (1.1.9)$

Adding (1.1.8) and (1.1.9), we get,

$$\frac{1}{2} \left[2^{(1-\alpha)R_\alpha(P//\frac{P+Q}{2})} + 2^{(1-\alpha)R_\alpha(Q//\frac{P+Q}{2})} \right]$$

$$= \frac{1}{2} \left[\sum_{i=1}^n \left(p_i^\alpha \left\{ \frac{1}{2} (p_i + q_i) \right\}^{1-\alpha} \right) + \sum_{i=1}^n \left(q_i^\alpha \left\{ \frac{1}{2} (p_i + q_i) \right\}^{1-\alpha} \right) \right]$$

$$= \sum_{i=1}^n \left(\left\{ \frac{p_i^\alpha + q_i^\alpha}{2} \right\} \left\{ \frac{p_i + q_i}{2} \right\}^{1-\alpha} \right)$$

$$\left(\frac{1}{1-\alpha} \right) \log \left[\frac{1}{2} \left[2^{(1-\alpha)R_\alpha(P//\frac{P+Q}{2})} + 2^{(1-\alpha)R_\alpha(Q//\frac{P+Q}{2})} \right] \right]$$

$$= \left(\frac{1}{1-\alpha} \right) \log \left(\sum_{i=1}^n \left(\left\{ \frac{p_i^\alpha + q_i^\alpha}{2} \right\} \left\{ \frac{p_i + q_i}{2} \right\}^{1-\alpha} \right) \right)$$

Let,

$$M_\alpha^2(P//Q) = \left(\frac{1}{1-\alpha} \right) \log \left[\frac{1}{2} \left[2^{(1-\alpha)R_\alpha(P//\frac{P+Q}{2})} + 2^{(1-\alpha)R_\alpha(Q//\frac{P+Q}{2})} \right] \right]$$

$$= \left(\frac{1}{1-\alpha} \right) \log \left(\sum_{i=1}^n \left(\left\{ \frac{p_i^\alpha + q_i^\alpha}{2} \right\} \left\{ \frac{p_i + q_i}{2} \right\}^{1-\alpha} \right) \right); \alpha \neq 1, \alpha > 1 \quad \dots (1.1.10)$$

Since, logarithmic function is positive, hence, $R_\alpha(P)$ also positive. So both $M_\alpha^1(P//Q)$ and $M_\alpha^2(P//Q)$, for all $\alpha \neq 1, \alpha > 0$ are guaranteed non negative. The aim of this chapter is to present probability bounds on the error by taking equation (1.1.7) and (1.1.10) into consideration.

1.2 Error Probability for case k_1 and k_2

Let we have a priori probability $p_i = p(k_i), i = 1, 2$ with two case k_1 and k_2 . Let a class conditional density function $p(z/k_i)$ have the feature z on Z . we calculate the conditional probability $p(K/z)$ of $K = k_i, i = 1, 2$, By Bayes rule. The minimum possible probability of error is given by

$$P_e = \int \min_i \{p(z/k_i)p_i\} dz, \quad i = 1, 2 = \int P_e(z)p(z) dz,$$

where,

$$P_e(z) = \min\{p(k_1/z_1), p(k_2/z)\}, \quad p(z) = p_1p(z/k_1) + p_2p(z/k_2),$$

$$p_1p(z/k_1) = p(z)p(k_1/z), \quad \text{and} \quad p_2p(z/k_2) = p(z)p(k_2/z),$$

Generalization of $M_\alpha^1(P//Q)$ and $M_\alpha^2(P//Q)$, in term of the prior probability for the two class case, is given by,

$$M_\alpha^1 = \begin{cases} \frac{1}{1-\alpha} \log \left\{ \int p(z/k_1)^\alpha dz + \int p(z/k_2)^\alpha dz \right\} & ; \alpha \neq 1, \alpha > 0 \\ \frac{1}{2} \left(\left\{ -\int p\left(\frac{z}{k_1}\right) dz \right\} \log \left\{ \int p\left(\frac{z}{k_1}\right) dz \right\} - \left\{ \int p\left(\frac{z}{k_2}\right) dz \right\} \log \left\{ \int p\left(\frac{z}{k_2}\right) dz \right\} \right) & ; \alpha = 1 \end{cases}$$

$$M_\alpha^2 = \begin{cases} \left(\frac{1}{1-\alpha} \right) \log \left[\int \left\{ \frac{p\left(\frac{z}{k_1}\right)^\alpha + p\left(\frac{z}{k_2}\right)^\alpha}{2} \right\} \left\{ \frac{p\left(\frac{z}{k_1}\right) + p\left(\frac{z}{k_2}\right)}{2} \right\}^{1-\alpha} dz \right] & ; \alpha \neq 1, \alpha = 0 \\ \frac{1}{2} \left(\left\{ -\int p\left(\frac{z}{k_1}\right) dz \right\} \log \left\{ \int p\left(\frac{z}{k_1}\right) dz \right\} - \left\{ \int p\left(\frac{z}{k_2}\right) dz \right\} \log \left\{ \int p\left(\frac{z}{k_2}\right) dz \right\} \right) & ; \alpha = 1 \end{cases}$$

More general way of, defining these measure is as follows:

$$M_\alpha^1(p_1, p_2) = \begin{cases} \left(\frac{1}{1-\alpha} \right) \log \left\{ \frac{\int p_1 p_2 \left(\frac{z}{k_1}\right)^\alpha dz + \int p_2 p \left(\frac{z}{k_2}\right)^\alpha dz}{2} \right\} & ; \alpha \neq 1, \alpha > 0 \\ \frac{1}{2} \left\{ -\int p\left(\frac{z}{k_1}\right) dz \right\} \log \left\{ \int p\left(\frac{z}{k_1}\right) dz \right\} - \left\{ \int p\left(\frac{z}{k_2}\right) dz \right\} \log \left\{ \int p\left(\frac{z}{k_2}\right) dz \right\}; & \alpha = 1 \dots (1.2.1) \end{cases}$$

$$M_\alpha^2(p_1, p_2) = \begin{cases} \left(\frac{1}{1-\alpha} \right) \log \left[\int \left\{ \frac{((p_1 p(z/k_1))^\alpha + (p_2 p(z/k_2))^\alpha)}{2} \times \left\{ \frac{p_1 p(z/k_2) + p_2 p(z/k_2)}{2} \right\}^{1-\alpha} dz \right\} \right] & \text{Now} \\ \frac{1}{2} \left(\left\{ -\int p\left(\frac{z}{k_1}\right) dz \right\} \log \left\{ \int p\left(\frac{z}{k_1}\right) dz \right\} - \left\{ \int p\left(\frac{z}{k_2}\right) dz \right\} \log \left\{ \int p\left(\frac{z}{k_2}\right) dz \right\} \right); & \alpha = 1 \dots (1.2.2) \end{cases}$$

putting $P_1 = P_2 = \frac{1}{2}$ in equation (1.2.1) and (1.2.2)

$$M_\alpha^1\left(\frac{1}{2}, \frac{1}{2}\right) = \left(\frac{1}{1-\alpha} \right) \log \left[\frac{\int \left(\frac{p(z/k_1)}{2} \right)^\alpha dz + \int \left(\frac{p(z/k_2)}{2} \right)^\alpha dz}{2} \right]; \quad \alpha \neq 1, \alpha > 0$$

$$= \left(\frac{1}{1-\alpha} \right) \log \left[\frac{\left(\frac{1}{2} \right)^\alpha \left\{ \int \left(p\left(\frac{z}{k_1}\right) \right)^\alpha dz + \int \left(p\left(\frac{z}{k_2}\right) \right)^\alpha dz \right\}}{2} \right]; \quad \alpha \neq 1, \alpha > 0$$

$$\begin{aligned}
 &= \left(\frac{1}{1-\alpha}\right) \log \left[\frac{\left\{ \int \left(p\left(\frac{z}{k_1}\right) \right)^\alpha dz + \int \left(p\left(\frac{z}{k_2}\right) \right)^\alpha dz \right\}}{2} \right] + \left(\frac{1}{1-\alpha}\right) \log \left(\frac{1}{2}\right)^\alpha \\
 &= M_\alpha^1 + \left(\frac{\alpha}{1-\alpha}\right); \alpha \neq 1, \alpha > 0 \quad \dots(1.2.3) \\
 M_\alpha^2\left(\frac{1}{2}, \frac{1}{2}\right) &= \left(\frac{1}{1-\alpha}\right) \log \left[\int \left\{ \left(\frac{p(z/z_1)}{2}\right)^\alpha + \left(\frac{p(z/k_2)}{2}\right)^\alpha \right\} \times \left\{ \frac{p(z/k_1) + p(z/k_2)}{2} \right\}^{1-\alpha} dz \right]; \alpha \neq 1, \alpha > 0 \\
 &= \left(\frac{1}{1-\alpha}\right) \log \left[\int \left\{ \frac{\left(\frac{1}{2}\right)^\alpha \left((p(z/k_1))^\alpha + (p(z/k_2))^\alpha \right)}{2} \right\} \times \left(\frac{1}{2}\right)^{1-\alpha} \left\{ \frac{p(z/k_1) + p(z/k_2)}{2} \right\}^{1-\alpha} dz \right]; \alpha \neq 1, \alpha > 0 \\
 &= \left(\frac{1}{1-\alpha}\right) \log \left[\int \left\{ \frac{\left((p(z/k_1))^\alpha + (p(z/k_2))^\alpha \right)}{2} \right\} \left\{ \frac{p(z/k_1) + p(z/k_2)}{2} \right\}^{1-\alpha} dz \right] \\
 &+ \left(\frac{1}{1-\alpha}\right) \log \left(\frac{1}{2}\right) = M_\alpha^2 + \left(\frac{1}{1-\alpha}\right); \alpha \neq 1, \alpha > 0 \quad \dots(1.2.4)
 \end{aligned}$$

We can write, by Bayes rule,

$$M_\alpha^2(p_1, p_2) = \left(\frac{1}{1-\alpha}\right) \log \left[\int M_\alpha^1(z) p^\alpha(z) dz \right]; \alpha > 0 \quad \dots(1.2.5)$$

$$M_\alpha^2(p_1, p_2) = \left(\frac{1}{1-\alpha}\right) \log \left[\int M_\alpha^2(z) p(z) dz \right]; \alpha > 0 \quad \dots(1.2.6)$$

Where,

$$M_\alpha^1(z) = 2^{(1-\alpha)H_\alpha\left(\frac{K}{Z=z}\right)}$$

$$M_\alpha^2(z) = 2^{(1-\alpha)H_\alpha\left(\frac{K}{Z=z}\right)2^{(1-\alpha)}} \quad \text{and}$$

$$H_\alpha(K/Z=z) = \begin{cases} \left(\frac{1}{1-\alpha}\right) \log \left[p^\alpha\left(\frac{k_1}{z}\right) + p^\alpha\left(\frac{k_2}{z}\right) \right]; \alpha \neq 1, \alpha > 0 \\ -\left(p\left(\frac{k_1}{z}\right)\right) \log\left(p\left(\frac{k_1}{z}\right)\right) - \left(p\left(\frac{k_2}{z}\right)\right) \log\left(p\left(\frac{k_2}{z}\right)\right); \alpha = 1 \end{cases}$$

From equation (1.2.5)

$$\begin{aligned}
 M_\alpha^1(p_1, p_2) &= \left(\frac{1}{1-\alpha}\right) \log \left[\int M_\alpha^1(z) p^\alpha(z) dz \right] = \left(\frac{1}{1-\alpha}\right) \log \left[\int 2^{(1-\alpha)H_\alpha^{9K/(Z=z)}} p^\alpha(z) dz \right] \\
 &= \left(\frac{1}{1-\alpha}\right) \log \left[\int 2^{(1-\alpha)\left(\frac{1}{1-\alpha}\right) \log \left[p^\alpha(k_1/z) + p^\alpha(k_2/z) \right]} p^\alpha(z) dz \right] \\
 &= \left(\frac{1}{1-\alpha}\right) \log \left[\int \left(p^\alpha(k_1/z) + p^\alpha(k_2/z) \right) p^\alpha(z) dz \right] \quad \dots(1.2.8) \\
 &= \left(\frac{1}{1-\alpha}\right) \log \left[\int \left(p_1 p^\alpha(z/k_1) + p_2 p^\alpha(z/k_2) \right) dz \right]
 \end{aligned}$$

$$\begin{aligned}
 &= \left(\frac{1}{1-\alpha} \right) \log \left[\int M_\alpha^1(z) p^\alpha(z) dz \right]; \alpha > 0, \text{ Similarly from equation, (1.2.6)} \\
 M_\alpha^2(p_1, p_2) &= \left(\frac{1}{1-\alpha} \right) \log \left[\int M_\alpha^2(z) p(z) dz \right] = \left(\frac{1}{1-\alpha} \right) \log \left[2^{(1-\alpha)H_\alpha(K/(Z=z))2^{1-\alpha}} p(z) dz \right] \\
 &= \left(\frac{1}{1-\alpha} \right) \log \left[\int 2^{(1-\alpha) \left(\frac{1}{1-\alpha} \right) \log \left[p^\alpha(k_1/z) + p^\alpha(k_2/z) \right] 2^{1-\alpha}} \right] \\
 &= \left(\frac{1}{1-\alpha} \right) \log \left[\int \left[p^\alpha \left(\frac{k_1}{z} \right) + p^\alpha \left(\frac{k_2}{z} \right) \right] 2^{(\alpha-2)} p(z) dz \right] \quad \dots (1.2.9) \\
 &= \left(\frac{1}{1-\alpha} \right) \log \left[\int \left(\frac{p^\alpha(z) p^\alpha(k_1/z) + p^\alpha(z) p^\alpha(k_2/z)}{2} \right) \left(\frac{p(z)}{2} \right)^{1-\alpha} dz \right] \\
 &= \left(\frac{1}{1-\alpha} \right) \log \left[\int \left(\frac{p_1 p^\alpha(z/k_1) + p_2 p^\alpha(z/k_2)}{2} \times \frac{p_1 p(z/k_1) + p_2 p(z/k_2)}{2} \right)^{1-\alpha} dz \right] \\
 &= \left(\frac{1}{1-\alpha} \right) \log \left(\int M_\alpha^2(z) p(z) dz \right)
 \end{aligned}$$

From (1.2.8),

$$M_\alpha^1(p_1, p_2) = \left(\frac{1}{1-\alpha} \right) \log \left[\int \left(p^\alpha \left(\frac{k_1}{z} \right) + p^\alpha \left(\frac{k_2}{z} \right) \right) p^\alpha(z) dz = H_\alpha \left(\frac{K}{Z} \right) \right] \dots (1.2.10)$$

From (1.2.9),

$$\begin{aligned}
 M_\alpha^2(p_1, p_2) &= \left(\frac{1}{1-\alpha} \right) \log \left(\int \left\{ p^\alpha \left(\frac{k_1}{z} \right) + p^\alpha \left(\frac{k_2}{z} \right) \right\} 2^{\alpha-2} p(z) dz \right) \\
 &= \left(\frac{1}{1-\alpha} \right) \log \left(\int \left\{ p^\alpha \left(\frac{k_1}{z} \right) + p^\alpha \left(\frac{k_2}{z} \right) \right\} p(z) dz \right) + \left(\frac{1}{1-\alpha} \right) \log 2^{\alpha-2} \\
 &= H_\alpha \left(\frac{K}{Z} \right) + \left(\frac{\alpha-2}{1-\alpha} \right) = H_\alpha \left(\frac{K}{Z} \right) + \left(\frac{1}{1-\alpha} \right) - 1; \alpha > 0 \quad \dots (1.2.11)
 \end{aligned}$$

But Bassat (1978), Devizver (1977), and Taneja (1983) defines,

$$2P_e \leq H_\alpha \left(\frac{K}{Z} \right) \leq H_\alpha(P_e, 1-P_e) \quad \dots (1.2.12)$$

From equation (1.2.10) and (1.2.11) $M_\alpha^1(p_1, p_2) = \begin{cases} \geq M_\alpha^2(p_1, p_2) & ; 0 < \alpha \leq 1, \alpha \geq 2 \\ \geq M_\alpha^2(p_1, p_2) & ; 1 < \alpha \leq 2 \end{cases}$

The expressions (1.2.5) – (1.2.12) gives the following bounds:

(a) In Posterior probabilities terms:

$$(1) \quad P_e \leq \left(\frac{1 - \left(\frac{1}{1-\alpha} \right) + M_\alpha^2(p_1, p_2)}{2} \right) \leq \left(\frac{1 - \left(\frac{1}{1-\alpha} \right) + M_\alpha^1(p_1, p_2)}{2} \right); 0 < \alpha \leq 1, \alpha \leq 2$$

$$(2) \quad (1 - H_\alpha\{P_e, 1-p_e\}) \leq \left(\left(\frac{1}{1-\alpha} \right) - M_\alpha^2(p_1, p_2) \right) \leq \left(\left(\frac{1}{1-\alpha} \right) - M_\alpha^1(p_1, p_2) \right); 1 < \alpha \leq 2$$

(b) In prior probabilities terms:

$$(1) \quad P_e \leq \left(\frac{1 + M_\alpha^2}{2} \right) \leq \left(\frac{2 + M_\alpha^1}{2} \right); 0 < \alpha \leq 1, \alpha \geq 2$$

$$(2) \quad (1 - H_\alpha\{P_e, 1-P\}) \leq (-M_\alpha^2) \leq (-1 + M_\alpha^1); 1 < \alpha \leq 2$$

3. Conclusions

Thus, bounds for error probability have been obtained for two class case, and valid for $0 < \alpha \leq 1$ and $\alpha \geq 2$. The inequality $M_\alpha^1(p_1, p_2)$ and $M_\alpha^2(p_1, p_2)$ have negative sign for the value $1 < \alpha \leq 2$. The obtained result had more significant, because Renyi's Entropy for higher order, i.e. for $\alpha > 1$, gives better result.

4. References

1. A. Renyi, "On measures of entropy and information", Proc. 4th Berkeley Symp. Math. Stat. and Probability, vol. 1, pp. 547-561, 1960.
2. C. E. Shannon, "A mathematical theory of communication", Bell System Tech., vol. 27, pp. 379-656, 1948.
3. L. L. Campbell, "A coding theorem and Renyi's entropy", Information and Control, vol. 8, pp. 423-429, 1965.
4. J. Aczel and Z. Daroczy, On Measures of Information and Their Characterization, New York: Academic, 1975.
5. A. Renyi, Probability Theory, Amsterdam: North Holland, 1970.
6. M. E. Hellman and J. Raviv, "Probability of error equivocation and the Chernoff bound", IEEE Trans. Inform. Theory, vol. IT-16, pp. 368-372, 1970.
7. M. Ben-Bassat and J. Raviv, "New bounds for the probability of error in classification problems", Proc. Conf. Israeli Organization for Information Processing, 1975.
8. M. Ben-Bassat, "f-entropies, probability of error, and feature selection". Information and Control, 39,227-242, 1978.
9. Devijver, P.A., "Entropy of degree α and lower bounds for the average Error rate". Information and Control, 34,222-226, 1977.
10. Taneja, I.J., "Comments on Entropy of degree β and lower bounds for the average error rate", IEEE Trans. System. Men Cybernetics, vol. smc-13, no.3,241-242, 1983.
11. A. Renyi, "On the amount of missing information and the Neyman-Pearson lemma" in Research Papers in Statistics, New York: Wiley, pp. 281-288, 1966.
12. G. T. Toussaint, "Some upper bounds on error probability for multiclass pattern recognition", IEEE Trans. Comput., vol. C-20, pp. 943-944, 1971.
13. R. Gallager, Information Theory and Reliable Communication, New York: Wiley, pp. 520-521, 1968.
14. P. Devijver, "On a new class of bounds on Bayes risk in multihypothesis pattern recognition", IEEE Trans. Comput., vol. C-23, no. 1, pp. 70-80, 1973.
15. T. Ito, "Approximate error bounds in pattern recognition" in Machine Intelligence, Scotland, Edinburgh: Edinburgh Univ., vol. 7, pp. 369-376, 1972.
16. A. Bhattacharyya, "On a measure of divergence between two statistical populations by their probability distributions", Bull. Calcutta Math. Soc., vol. 35, pp. 99-109, 1943.
17. I. Vajda, "Bounds on the minimal error probability and checking a finite or countable number of hypotheses", Information Trans. Problems, vol. 4, pp. 9-19, 1968.
18. D. G. Lainiotis, "A class of upper bounds on probability of error for multihypothesis pattern recognition", IEEE Trans. Inform. Theory, vol. IT-15, pp. 730-731, 1969.
19. G. H. Hardy, J. E. Littlewood and G. Polya, Inequalities, New York and London: Cambridge Univ. Press, 1934.
20. D. E. Daykin and C. J. Eliezer, "Generalization of Holder's and Minkowsky's inequalities", Proc. Cambridge Phil. Soc., vol. 64, pp. 1023-1027, 1968.